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ANSWER THE QUESTIONS 

1. During what period did the Apatosaurus live? 

a. at the end of the Jurassic 

b. at the end of the Triassic 

c. at the end of the Cretaceous 

d. none of the above 

 

2. Why is it believed that Apatosaurus was herbivorous? 

a. because of its enormous size 

b. because of the length of its tail 

c. because of the shape of its teeth 

d. because of when it lived 

 

3. What was missing from the Apatosaurus discovered in 1877? 

a. head 

b. feet 

c. portions of the tail 

d. All of the above were missing. 

 

4. How much could an Apatosaurus weigh? 

a. 23 centimeters 

b. 23 meters 

c. 23 tons 

d. 23 volts 

 

5. Experts think that the Apatosaurus could use its tail as a whip, making a loud sound 

with it. 

a. True 

b. False 
 


